
INSTALLATION INSTRUCTIONS 

ONKI MODULAR BRUSH GUARD – PART # 363646 
97-03 DODGE Dakota / 00-03 DOGE Dakota Quad Cab 

98-03 DODGE Durango 

Parts List (Please check that you have all the parts listed below before you start installing) 
Quantity Brush guard installation hardware  
      2 Mounting brackets 
      2 Support brackets 
      2 Bottom head Allen bolts 

 8 M12x1.75x40 (19mm hex head bolts) 
 10 M12 Nylon lock nuts (19mm socket nuts) 

     20 ½” SAE washers 

Installation of Mounting Frame Brackets & Brush Guard 

1. Open the hood, locate and remove the bumper factory bolts (one on each side). Identify and mount the support
brackets by using factory bolts. Do not tighten at this point.

2. Identify main brackets (D for driver side / P for passenger side). Install the main brackets to the main frame by
removing and replacing the factory bolts (2 on each side) with the supplied M12x1.75x40mm bolts and washers.

3. With the help of another person, hold and align the Brush Guard to the mounting brackets, secure with supplied
M12x40 hex bolts.

4. With the support brackets installed. Now fasten the support brackets to the inside of the main plates with supplied
½ X 1 ½” Button Head Allen bolts and ½” washers. Do not tighten at this point.

5. Now, align the Brush Guard and make sure all nuts, bolts, and brackets are tightened.

http://www.carid.com/onki/
http://www.carid.com/grill-guards.html

